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= 110,684
& 49,808
= 116,218
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= 812,643
= 71,709
= 654,890
02 QIZHA AAIE E X 1,539,242 1,539,242 0
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—RJI&EHlE 22 XN 1,539,242 ,000& 1,539,242
= 812,643
= 71,709
= 654,890
HEtEdsgAE= 105,765 60,996 44,769
= 105,765
301 et A= 105,765 0 105,765
= 105,765




AN sg€II=4dH
M =g X2 2el
ool HBPSY S4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MIIEELES 105,765 0 105,765
O=HE=x 105,765
— & X2 Xl (114ha)
105,765,000& 105,765
= 105,765
TS sLE MAX 743,097 766,045 A22,948
101 @124l 11,513 11,365 148
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01 AR ESFH S 5,000 5,000 0
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EQMEHME ALY 520,830 520,830 0
= 364,586
s 156,244
307 glz2+ol & 520,830 520,830 0
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< 4,200
s 4,200
307 21201 A 2,715 7,850 A5,135
< 815
s 1,900
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e 1,900
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= 24,000
301 et A= 34,000 0 34,000
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